
60 + 60 = 120

180 − 120 = 60

60

90 + 40 = 130

180 − 130 = 50

50

180 − 60 = 120

30 + 120 = 150

180 − 150 = 30
120 30

60 + 90 = 150
180 − 150 = 30

3060

30



60 − 50 − 70

90 + 90 + 10 = 190 50 + 50 + 50 = 150 70 + 80 + 30 = 180

90 + 40 + 40 = 170

120 + 40 + 30 = 190









450

45 + 30 = 75

180 − 75 = 105

300
500

 
ب = 1000

100 + 30 = 130

180 − 130 = 50
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90 + 45 = 135

180 − 135 = 45





127 + 36 = 163

180 − 163 = 17 = ؟

76 + 40 = 116

180 − 116 = 64 = ؟

180 − 140 = 40

40

6417

15 + 20 = 35 90 − 35 = 55

55

90 − 55 = 35

35


